Target Practice

The Problem:

What fraction of each target area are the shaded rings?
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Solution:

In each case, the fraction is simply what the uninitiated might initially guess!
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This is a rather unexpected result, given what we know about areas and scale factors.

It is, in fact, perfectly general for the middle ring of circles of odd integer radius.


[image: image2.wmf]22

2

22

2

2222

222

(2 - 1)31

A

(3)93

(3 - 2)51

B

(5)255

while,ingeneral,iftheouterradiusofthetar

getisdenotedbyr2n1,

((n+1) - n)(n2n1)n2n111

(2n+1)(2n+1)(2n+1)2n1r

pp

==

pp

pp

==

pp

=+

p++-+

====

p+


Similarly, in fact, the sum of the middle two rings of circles of even integer radius (r = 2n) is a fraction 
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 of the whole circle, just as one might naively guess…!
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